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INDIAN SCHOOL AL WADI AL KABIR  
Class X, Mathematics -Sample Paper- Set 1 

15-12-2020 

Q. 

No. 
PART A 

 Section 1: Q1 to Q16 carries 1 Mark each.  

1.  

2. 
      

3. 
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15. 

 

16. The given figure is a sector of radius 10.5 cm. find the perimeter of the sector? (Take π =  
22

7
)  

 

Section-II: Q17-Q20 

Case study-based questions are compulsory. Attempt any 4 sub parts from each question. 

Each question carries 1 mark 

17. Case Study Based-1 

To promote cooperation, culture, creativity, sharing, self-confidence and other social values, a 

student adventure camp was organized by the school for class X students and their 

accommodation was planned in tents. The teacher divides the students into groups, each group of 

four students was given to prepare a conical tent of radius 7 m and canvas of area 551 m2 in 

which 1 m2 is used in stitching and wasting of canvas. 

 

 a Curved surface area of conical tent is: 

 (i) 𝜋rl (ii) 𝜋r2h (iii) 
1

2
𝜋rl (iv) 2𝜋r(r + l) 

b Height of the conical tent is: 

 (i) 24 m (ii) 25 m (iii) 26 m (iv) 27 m 

c Volume of the tent is:  

 
(i) 1234 m3 (ii) 1232 m3 (iii) 1332 m3 (iv) 1343 m3 
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d How much space is occupied by each student in the tent if there are 4 students in a tent? 

 (i) 318 m3 (ii) 813 m3 (iii) 308 m3 (iv) 391 m3 

e The cost of canvas for making the tent if the canvas cost ₹ 70 per sq. m is: 

 (i) ₹ 40000 (ii) ₹ 38570 (iii) ₹ 38575 (iv) ₹ 48470 

18. Case Study Based-2 

An aquarium is a transparent tank of water in which the fish and other water creatures and 

plants are kept. The diagram below shows the plan for an aquarium. It will be built in 

hexagonal shape. It will be made using 

•        Six rectangular shaped clear glasses. 

•  One rectangular hexagon clear glass for roof. 

 

a Refer to Top View 

The value of x for which the distance between the points F(2, -3) and C(x, 5) is 10 is: 

 (i) 8 or -4 (ii) 4 or 8 (iii) 5 or -10 (iv) 5 or 10 

b Refer to Top View 

The midpoint of the line segment joining the points E(8, 11) and B(11, 15) is: 

 
(i) (6, 10) (ii) (

11

5
,
8

5
 ) (iii) (17,

15

4
 ) (iv) (

19

2
, 13 ) 

c Refer to Front View 

The distance of a point F(8, 6) from origin is: 

 (i) 12 units (ii) 16 units (iii) 14 units (iv) 10 units 
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d Refer to Front view: 

The perimeter of square EFHI where E(-2, 0), F(3, 0), H(3, 5) and I(-2, 5) is: 

 (i) 8√5 units (ii) 40 units (iii) 20 units (iv) None of these 

e Refer to Front view: 

The coordinates of the point which divides segment joining the point A(-4, 5) and D(6, 3)in the 

ratio 3:2 internally is: 

 
(i) (0, 8) (ii) (2,

19

5
 ) (iii) (8,

13

2
 ) (iv) (

7

5
, 3 ) 

19. 

 

 

 

 

 

 

Case Study Based-3 

In a class room, four students Anil, Jay, Richa and Suresh were asked to draw the  

graph of p(x) = ax2 + bx + c. Following graphs were drawn by the students. 

 

 

 

a The number of students who have drawn the graph correctly is: 

 
(i) 1 (ii) 2 (iii) 3 (iv) 4 

 

    

        (a) Anil                                               (b)  Jay 

   

         (c ) Richa                                           (d) Suresh 
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b The name of the curve represented by Jay’s polynomial is: 

 (i) parabola (ii) ellipse (iii) hyperbola (iv) None of these 

c The number of zeroes for Richa’s graph is: 

 (i) 1 (ii) 2 (iii) 3 (iv) 4 

d If p(x) = ax2 + bx + c and a + c= b, then one of the zeroes is: 

 
(i) 

𝑏

𝑎
 (ii) 

𝑐

𝑎
 (iii) 

−𝑏

𝑎
 (iv) 

−𝑐

𝑎
 

e If p(x) = ax2 + bx + c and a + b +c= 0, then one of the zeroes is: 

 
(i) 

𝑏

𝑎
 (ii) 

𝑐

𝑎
 (iii) 

−𝑏

𝑎
 (iv) 

−𝑐

𝑎
 

20. Case Study Based-4 

Teacher gives an activity to the students to measure the height of a tree and asks them who will 

do this activity. Anjali accepts the challenge. She places a mirror on level ground to determine the 

height of the tree. She stands at a certain distance so that she can see the top of the tree reflected 

from the mirror. Anjali’s eye level is 1.8 m above ground. 

The distance of Anjali and the tree from the mirror are 1.5 m and 2.5 m respectively.  

 

a Refer to the figure and identify the similar triangles: 

 (i) ∆ABM~∆CDM (ii) ∆ABM~∆CMD (iii) ∆ABM~∆MCD (iv) None of these 

b The similarity criteria applied to prove the similarity of triangles is: 

 (i) SSS (ii) SAS (iii) AA (iv) None of these 

c The height of the tree is: 

 (i) 3 m (ii) 3.5 m (iii) 2.5 m (iv) 4m 
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d In ∆ABM if  ∠ABM = 30⁰ find ∠MCD. 

 (i) 65⁰ (ii) 45⁰ (iii) 40⁰ (iv) 30⁰ 

e The length of AM is: 

 (i) √61 𝑚 (ii) 
√61 

10
 m (iii) 

√61 

2
 m (iv) 

5√61 

100
 m 

PART -B:  

Q21 to Q26 are Very Short Answer Questions of 2 marks each 

21. 

 

OR 

 

22. 

 

23. 

 

OR 

 

 

24. 

 

25. 
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26. 

 

 

PART B: 

Q27 to Q 33 are Short Answer Questions of 3 marks each 

27. 

 

 
OR 

 

 

28. 

. 

29. 
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30. 

 

31. 

 

OR 

 

32. 
 

33. 

 

PART B:  

Q34 to Q 36 are Long Answer Questions of 5 marks each 

34. 

  

OR 

 

35. 

 

36. 

 



 

10 |  - Sample Paper-Set 1/ Class X/Sharol/2020-21 
 

 

Answers 

A
n

sw
er

s 

1 √𝟗
𝟑

 2 3024 3. 
5

9
   OR 2 4 No real roots 

5 2   OR   
 4

√7
 6 6 cm 7 3:1 8 

2

3
  OR 0 

9 
2√𝑚2 + 𝑛2 OR 
2 

10  k<-9 11 60⁰ 12 7 

13 -4 14 17  OR  5050 15 17 16 33 

17 
a(i) b(i) 

c(ii)d(iii) e(ii) 
18 

a(i) b(iv) 

c(iv)d(iii) e(ii) 
19 

a(ii) b(i) 

c(ii)d(iv) e(ii) 
20 

a(i) b(iii) 

c(i)d(iv) 
e(iii) 

21 A =45⁰, B =45⁰ 22 250 cm2 23 
OR P(3,-2) 

Q(4,-5) 
24 (i)

 22

25
 (ii)

 122

125
 

 
25 25 26 16 cm, 14 cm 27 

259 cm2  OR 
18.67 cm2 

28 200 

 

31 

x =3, y = 2 

OR 33yrs,10 
yrs 

32 
 3𝑎

4𝑏
 ,

 2𝑏

3𝑎
 33 2:3 34 

30,10 OR 

15,30 

 35 3 cm, 12 cm 36 720 km/hr  

 


